Central Tendency – Worksheet #2
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1)
Jumpin’ Jimmy did the following number of push-ups in gym class over the last 2 weeks of school:

50, 49, 55, 52, 42, 54, 59, 55, 60, 57

Mean:

Median:

Mode:

Range:

2)
The following is the price of gas recorded at 9 major stations:

$2.44,  $2.46,  $2.38,  $2.19,  $2.39,  $2.45,  $2.39,  $2.38, $2.49

Mean:

Median:

Mode:

Range:

3)
The table shows the last 10 test scores for Lazy Larry (out of 100 points):

	Date
	10/3
	10/16
	10/30
	11/3
	11/14
	11/24
	12/4
	12/12
	12/21
	1/18

	Score
	52
	70
	75
	48
	62
	68
	70
	70
	66
	20


Mean:

Median:

Mode:

Range:

The XYZ company is having a meeting next week to talk about employee salaries.  The following chart outlines the members of the company and their current salary:

	Job Title
	Salary
	Number of

Employees
	Total Salaries

	President
	$250,000
	1
	$250,000

	Vice President
	$159,000
	1
	$159,000

	Treasurer
	$48,000
	1
	$48,000

	Human Resources
	$44,500
	1
	$44,500

	Laborer
	$41,200
	8
	$329,600

	Secretary
	$32,500
	1
	$32,500

	Custodian
	$28,750
	2
	$57,500

	Totals
	
	15
	$921,100


1)
Mean:


Median:


Mode:


Range:

2)
Why do you think the President of the company would use the mean to find the average salary for the employees of the XYZ company?

3)
Why do you think a representative for the workers would NOT use the mean to find the average salary?
